past simple

1. Correct these sentences.
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John played the guitar today. John played the guitar yesterday.
When you returned home yesterday?

We write the composition yesterday.

Matthew didn’t watched that program.

Where did Joan and his family travelled to?

The bus stoped in the town.

We tryied to open the door, but we couldn’t.

Did you visit the museum? Yes, | did visit.

Did you liked the film last night?

Where lived Shakespeare?

2. Complete with the verbs in brackets.

Did you watch the programme on La 2 last night? (you/watch) — Yes, |

I (walk) for 3 kilometres to arrive on time, but | (be) late.

Dinosaurs (not disappear) last year, they many years ago.

(disappear).

They because they any food to eat. (die / not have).

Martin (draw) a beautiful picture of his girlfriend last month, but she
(not like).

3. Read the text about Christopher Columbus and write 5 questions and answer them. Follow
the example:

Christopher Columbus was born near Genoa, Italy in 1451. On August 3", 1492 he sailed

from Palos, Spain. 88 men went with him. They landed in the Bahamas, but they thought it

was Asia. They returned to Europe in 1493.

a. When was he born? d.
1451

b. e.

C. f.
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past simple

1. Correct these sentences.
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John played the guitar yesterday.

When did you return home yesterday?

We wrote the composition yesterday.
Matthew didn’t watch that program.
Where did Joan and his family travel to?
The bus stopped in the town.

We tried to open the door, but we couldn’t.
Did you visit the museum? Yes, | did.

Did you like the film last night?

Where did Shakespeare live?

2. Complete with the verbs in brackets.

Did you watch the programme on La 2 last night? (you/watch) — Yes, | did

I walked (walk) for 3 kilometres to arrive on time, but | was (be) late.

Dinosaurs didn’t disappear (not disappear) last year, they disappeared many years

ago. (disappear).

They died (die) because they didn’t have any food to eat. (not have).

Martin drew (draw) a beautiful picture of his girlfriend last month, but she didn’t like

(not like).

3. Read the text about Christopher Columbus and write 5 questions and answer them. Follow
the example:

Christopher Columbus was born near Genoa, Italy in 1451. On August 3", 1492 he sailed

from Palos, Spain. 88 men went with him. They landed in the Bahamas, but they thought it

was Asia. They returned to Europe in 1493.

a. When was he born?
1451
b. Where did he arrive?

He arrived to the Bahamas.

c. How many men did he go with?

88.
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d. When did he return?
He returned in1493.

e. When did he leave Spain?
On August 3", 1492

f. Where did he sail from?

From Palos.



past: to be

1. Complete with was / were or wasn’t / weren’t :
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He was at home yesterday. He didn’t go out.

They at school on Tuesday. They went on an excursion that day.
She outside because it cold.

We at the party and had a good time.

I tired last night so | went to bed.

Where you at 7 p.m. yesterday?

This time last year | in Rome.

She at the cinema. | didn’t see her there.

2. Complete the questions to the answers:

a.

When were you born?

I was born in 1980.

Where ?
He was at the cinema last night.

Why ?
We were tired because we went to bed very late.

Who ?
She was my sister.

When ?
The birthday party was last Friday.

How old ?

I was 25 in 2001.

Yes, we were in Italy last week.

No, the film wasn’t interesting.

3. What was there in the kitchen yesterday? Write the questions and short answers:

KITCHEN
two bottles of milk v a bar of chocolate
a bottle of lemon juice x four kilos of apples
a tin of peas x a loaf of bread
three packets of rice v two packets of sugar
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a. Were there two bottles of milk? Yes, there were.
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4. Change the following sentences into affirmative, interrogative or negative:
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a. He was a good student. (int/neg)
Was he a good student?
He wasn’t a good student.

b. Were they doctors? (affirm/neg)

c. There was a nice shopping centre. (int/neg)

d. She wasn’t an opera singer. (affirm/int)

e. Were there toys at the shop? (affirm/neg)

f. We weren’t friends. (affirm/int)




past: to be
1. Complete with was / were or wasn’t / weren’t :

He was at home yesterday. He didn’t go out.

o &

They weren’t at school on Tuesday. They went on an excursion that day.

She wasn’t outside because it was cold.

a2 o

We were at the party and had a good time.
| was tired last night so | went to bed.
Where were you at 7 p.m. yesterday?

This time last year | was in Rome.

o «Q —Hh o

She wasn’t at the cinema. | didn’t see her there.

2. Complete the questions to the answers:

a. When were you born?
I was born in 1980.
b. Where was he last night?
He was at the cinema last night.
c. Why were you tired?
We were tired because we went to bed very late.
d. Who was she?
She was my sister.
e. When was the birthday party?
The birthday party was last Friday.
f. How old were you in 2001?
I was 25 in 2001.
g. Were you in Italy last week?
Yes, we were in Italy last week.
h. Was the film interesting?

No, the film wasn’t interesting.

3. What was there in the kitchen yesterday? Write the questions and short answers:

KITCHEN
two bottles of milk v a bar of chocolate
a bottle of lemon juice x four kilos of apples
a tin of peas x a loaf of bread
three packets of rice v two packets of sugar
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Were there two bottles of milk? Yes, there were.
Was there a bottle of lemon juice? No, there wasn’t.
Was there a tin of peas? No, there wasn’t

Were there three packets of rice? Yes, there were.
Was there a bar of chocolate? Yes, there was.

Were there four kilos of apples? No, there weren’t.
Was there a loaf of bread? Yes, there was.

Were there two packets of sugar? No, there weren’t.

4. Change the following sentences into affirmative, interrogative or negative:

1° E.S.O.

a.

He was a good student. (int/neg)

Was he a good student?

He wasn’t a good student.

Were they doctors? (affirm/neg)

They were doctors.

They weren’t doctors.

There was a nice shopping centre. (int/neg)
Was there a nice shopping centre?

There wasn’t a nice shopping centre.

She wasn’t an opera singer. (affirm/int)
She was an opera singer.

Was she an opera singer?

Were there toys at the shop? (affirm/neg)
There were toys at the shop.

There weren’t toys at the shop.

We weren’t friends. (affirm/int)

We were friends.

Were we friends?
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